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Roll No. ....................................

MAEC-12 (M.A. Economics)

Second Year, Examination-2015

MAEC-109

Demography

(tuukafddh)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. Write a note on the ''theory of optimum population" mentioning

its important characteristics and its importance ?

vuqdwyre tula[;k fl¼kUr ij fVIi.kh fyf[k;s rFkk bldh

fo'ks"krk ,oa egRo dks le>kb,A

2. Write an essay on the Health & Nutrition related polices of
the Indian Government ?

Hkkjr esa ljdkj dh LokLF; ,oa iks"k.k laca/h uhfr;ksa ij ,d fuca/
fyf[k,A

3. Clarify factors affecting migration & explain them ?

izoklu ds izHkkodkjh dkjdksa dks Li"V dhft, rFkk budh O;k[;k
dhft,A

4. Explain the following :

(a) Gender related Development Index (GDI)

(b) Human Poverty Index (HPI)

(c) Steps in construction of Human Development Index

fuEufyf[kr dh O;k[;k dhft, &

(v) fyax lacaf/r fodkl lwpdkad

(c) ekuo fu/Zurk lwpdkad

(l) ekuo fodkl lwpdkad ds fuekZ.k ds pj.k

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)
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uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. Define demography and discuss the uses & scope of

demography.

tuukafddh dks ifjHkkf"kr dhft, vkSj blds mi;ksx ,oa {ks=k dks

le>kb,A

2. Analyse the ''The theory of Demographic transition."

tukafddh; laozQe.k ds fl¼kUr dh foospuk djsaA

3. What do you understand by quality of life Index.

thou dh xq.koÙkk lwpdkad ls vki D;k le>rs gSa\

4. Write notes on the following :

(a) National Population Policy

(b) National Rural Health Mission

fuEufyf[kr ij fVIi.kh dhft, &

(v) jk"Vªh; tula[;k uhfr

(c) jk"Vªh; xzkeh.k LokLF; fe'ku

5. Write a note on Everett Lee's conceptual framework for

migration analysis.

izoklu ij ,ojsV yh dh ifjdYiuk ij fVIi.kh fyf[k;sA

6. What are the main reasons for population explosion in

developing countries.

fodkl'khy ns'kksa esa tula[;k foLiQksV ds eq[; dkj.k D;k gSa\
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7. What is a life table ? Explain it's columns and give the uses

of life table.

thou lkj.kh D;k gksrh gS] thou lkj.kh ds LrEHkksa dh foospuk

dhft, ,oa blds mi;ksx fyf[k,A

8. Explain the following concepts :

(a) Total Fertility Rate (TFR)

(b) Life Expectancy

fuEufyf[kr dh O;k[;k dhft, %

(v) dqy iztuu nj (Vh- ,iQ- vkj-)

(c) thou izR;k'kk

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A

State whether the following statements are true or false :

bafxr djsa fd fuEu dFku lR; gSa ;k vlR; %

1. National Rural Health Mission was launched in 1995.

jk"Vªh; xzkeh.k LokLF; fe'ku dh 'kq:vkr o"kZ 1995 esa gqbZA

2. According to Malthus "The growth of population is definitely
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greater than the growth in the earth to produce subsistence."

ekYFkl ds vuqlkj& ^^tula[;k esa] thou fuokZg lk/uksa dh
vis{kk] rhoz xfr ls c<+us dh izo`fr gksrh gSA

3. J. C. Cladwell gave "The theory of Intergenerational wealth
flow."

^vUrj ih<+h lEink izokg fl¼kUr* ts- lh- DysMoSy }kjk fn;k
x;k gSA

4. John Graunt is associated with the theory of Demographic
Transition.

tkWu xzkmUV tukafddh; laozQe.k ds fl¼kUr ls lacaf/r gSaA

5. Crude death rate = populationyear  Mid

year ain  deaths of No.
 × 1000

v'kksf/r e`R;q nj fdlh o"kZ fo'ks"k esa e`rdksa dh

= ——————————————–

Choose the correct option :

lgh fodYi pqfu;s %

6. Infant mortality rate is calculated for :

(a) Children below 5 years of age

(b) Children below 1 year of age

(c) Children below 6 months of age

(d) Children below 1 month of age

f'k'kq e`R;q nj fuEufyf[kr esa ls fdl oxZ ds fy, fudkys tkrs
gSa%

dqy la[;k

ml o"kZ dh eè;o"khZ; dqy tula[;k
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(v) 5 o"kZ ls de f'k'kqvksa ds fy,

(c) 1 o"kZ ls de f'k'kqvksa ds fy,

(l) 6 ekg ls de f'k'kqvksa ds fy,

(n) 1 ekg ls de f'k'kqvksa ds fy,

7. According to Malthus "Population when unchecked increases
in ................... ratio.

(a) Arithmetic

(b) Geometric

(c) Harmonic

(d) None of these above

ekYFkl ds vuqlkj ^^vfu;af=kd tula[;k -------------- nj ls c<+rh
gS %

(v) vadxf.krh;

(c) T;kfefrd

(l) gjkRed

(n) bu esa ls dksbZ ugha

8. The population of a village is 10000 adult males, 7000 adult
females and 1000 children. If the area of the village is 900
sq km, the density of population is :

(a) 20 people per sq km

(b) 2 people per sq km

(c) ½ people per sq km

(d) 20
1  people per sq km

fdlh xk¡o esa 10]000 iq#"k] 7000 efgyk,¡ ,oa 1000 cPps jgrs
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gSa] ;fn xk¡o dk {ks=kiQy 900 oxZ fdeh gS rks xk¡o dk tu?kuRo
gS %

(v) 20 O;fDr izfr oxZ fdeh

(c) 2 O;fDr izfr oxZ fdeh

(l) ½ O;fDr izfr oxZ fdeh

(n) 20
1  O;fDr izfr oxZ fdeh

9. The year ............... is called the great divide in the demographic
history of India.

(a) 1901 (b) 1911

(c) 1921 (d) 1931

o"kZ ----------------- dks Hkkjr ds tukafddh; bfrgkl ea egkfoHkktu
dgk tkrk gS %

(v) 1901 (c) 1911

(l) 1921 (n) 1931

10. The formula for Dalton's principle of population is :

(a) M = 
O

D-A

(b) N = M
1
–M

(c) Q

B-O

(d) M = 
O

A-O
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MkYVu ds tula[;k ds fl¼kUr dk lw=k gS &

(v) M = 
O

D-A

(c) N = M
1
–M

(l) Q

B-O

(n) M = 
O

A-O


